Annex B
Calculation of the Maximum Concentration of
Thioglycolic Acid & Thiolactic Acid Combinations
This document was prepared as a follow-up to the 28th ACSB meeting result on clarification of the calculation maximum concentration of thioglycolic acid and thiolactic acid combinations for general use of hair waving or straightening products which must not exceed 8% calculated as thioglycolic acid.

 Statement in Annex III, Refs 2a and A9:

“For general use of hair waving or straightening products the maximum concentration for combination of Thioglycolic acid and Thiolactic acid must not exceed 8% calculated as Thioglycolic Acid.”
	Thioglycolic acid (TGA)
	Thiolactic acid (TLA)
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	Chemical Formula


	= C2H4O2S
	Chemical Formula
	= C3H6O2S

	Molecular Weight (MW TGA)


	= 92.11 g/mol
	Molecular Weight (MW TLA)
	= 106.14 g/mol


Calculation to convert TLA to TGA is:


Concentration of TLA
     X     MW TGA






 MW TLA

Example 1 - Single Ingredient

Combination of TGA and TLA in the formulation is 4% TGA and 4% TLA.

Convertion of 4% TLA to TGA = 4% x 92.11/106.14 = 3.47%

Total concentration of the combinations calculated as TGA = 4% + 3.47% = 7.47%

Example 2 – Mixture Ingredient

In case of both ingredients in the form of mixture ingredient, then the calculation should be break down into its composition, as follow:

Concentration of the Mixture in the formulation is 6%. Ratio TGA and TLA in the mixture is 70% : 30%.

Proportion of TGA in 6% of the mixture      Concentration of TGA = 6% x 0.7 = 4.2%

Proportion of TLA in 6% of the mixture       Concentration of TLA = 6% x 0.3 = 1.8%

Conversion of 1.8% TLA to TGA = 1.8% x 92.11/106.14 =1.56% ~ 1.6%

Total concentration of the combinations calculated as TGA = 4.2% + 1.6% = 5.8%

